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3-DIGIT ADDITION SUBTRACTION PROBLEMS SHEET 2A 

Work out these addition and subtraction problems with no regrouping. 

  WORKING OUT 

1) 

 

There are 315 roses in a rose garden.  

The gardener plants another 74 roses.  

How many roses are there in total? 

 

There are _______ roses in total. 

 

2) 

 

Sally and Tyger go spider hunting. Sally finds 375 

spiders. Tyger finds 497 spiders.  

How many more spiders did Tyger find? 

 

Tyger found _______ more spiders. 

 

3) 

 

522 adults and 243 children go to watch a show at the 

theatre. How many people is this altogether? 

 

 

There are _______ people altogether. 

 

4)  

 

A jumbo jet travels through the air at 575mph. A Bugatti 

sports car can travel at 304mph.  

How much faster is the jumbo jet? 

 

The jumbo jet is _______ mph faster. 

 

5) 

 

A parking lot has capacity for 748 cars. There are 324 

cars in the parking lot.  

How many empty spaces are there? 

 

There are _______ empty spaces. 
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Name Date 
 

 

3-DIGIT ADDITION SUBTRACTION PROBLEMS SHEET 2A ANSWERS 

  WORKING OUT 

1) 

 

There are 315 roses in a rose garden.  

The gardener plants another 74 roses.  

How many roses are there in total? 

 

There are 389 roses in total. 

315 + 74 = 389 

2) 

 

Sally and Tyger go spider hunting. Sally finds 375 

spiders. Tyger finds 497 spiders.  

How many more spiders did Tyger find? 

 

Tyger found 122 more spiders. 

497 – 375 = 122 

3) 

 

522 adults and 243 children go to watch a show at the 

theatre. How many people is this altogether? 

 

 

There are 765 people altogether. 

522 + 243 = 765 

4)  

 

A jumbo jet travels through the air at 575mph. A 

Bugatti sports car can travel at 304mph.  

How much faster is the jumbo jet? 

 

The jumbo jet is 271 mph faster. 

575 – 304 = 271 

5) 

 

A parking lot has capacity for 748 cars. There are 324 

cars in the parking lot.  

How many empty spaces are there? 

 

There are 424 empty spaces. 

748 – 324 = 424 
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